STANLEY.

Engineered Fastening

FBAFw - "OTRN

*ﬂ

|
|
|

¥ T e T S T

3aMIN 44MIN S5MIM
TOMIMN '—'I L 33MIN _ 20MIN
| 1 ~| =
. I %[ﬁ C[ : o = DP[

g g \ g
R MN10A-S/MN10A-L PNT110 PNT210
5 = 0.63 kg 0.68 kg 1.12 kg
S 220 mm 135 mm 155 mm
T 5 279 mm 250 mm 205 mm
AkOo—4 9 3.4 mm 910 mm 9 8 mm

OF NEDLT N RIETOMEIEEN TR, FE9XFYMY—ILTY,

OMN10A-S/L : M3~MI0ETDHEFEAATRE (SIIMA~M6, LIZM6~M10DFVrAE N FBLTLEY)
@PNT110 : M3~M6ETH/NEFVLH

OPNT210 : M4~MI2ETOMFELAIRE, FFTYMERB THEEMENRL

\| http:/ /www.popnpr.co.jp/
STANLEY. T ohTrAT-Hhst st



Fyby—ILEEfERE h &K

2EUE—F S VK P
S XF =1l L= AFVLR Sl FIVE ZFVLR AF— b
SPHM APHE SSPHM SPSH APSH SSPSm SPHMHEX
SEHMSE AFHMISE SSFHMSF SFSMSF AFSMSF SSFSMSF SFHMSE-HEX
MN10A-S/L IR M3 ~ M10 M4 ~ M8 M4 ~ M10 M4 ~ M10 N ~ M3 M4 ~ M10
PNT110 M3 ~ M5 M3 ~ M6 M4 ~ M5 M4 ~ M5 M4 ~ M6 M4 ~ M5 M4 ~ M5
PNT210 Ko 12 M4 ~ M10 Md ~ M8 Md ~ M10 Md ~ M10 Md ~ M8 Md ~ M10
A A—InEt 75 a—Lwh S—UT5u YTk
FIVE AF— b AF =l AF = AF =1 ZF—Il AF =1l
APHEBHEX SPHERLT SFHMR-
AFHMSF HEx | SPHEAHEX-LF | SPHMTETRA | Spigerly, | SPHMRLTALF bl o SPHER-WB
MN10A-S/L M4 ~ M8 M6 M4 ~ M8 M4 ~ M8 M6 ~ M8 M6 M4 ~ M6
PNT110 M4 ~ M6 - M4 ~ M5 M4 ~ M5 - - M4 ~ M5
PNT210 M4 ~ M8 M6 M4 ~ M8 M4 ~ M8 M6 ~ M8 M6 M4 ~ M6
1\ Y RN Y A PAN
FybY—ILIN—YES x
MN10A-S B = ==
ToFLIbEpw T
MN10A-S J—XE—2 TV ELL
; TvELIL S G s i i /=ZE=2
?;?ll.ﬂ:}ﬂ!‘-tf e T RUAE TwELAb a1 ATV | BaES HaE
M3 %05 “MN10-04-3A 630 T EMN10-05-3 531
M4 X 0.7 MN10-04-4A 640 B T MNI10-05-4 4.1
M5 % 0.8 MN10-04-5 $5.0 " MNI10-055 $5.1
M6 1.0 MN10-04-6 6.0 : MM 10-05-6 6.1
MEX1.25 "MN10-04-81 $80 ) i T *MN10-05-8 $8.1
MI10X 15 *MN10-04-101 6100 MN10-04-82 MNT0-04-83 ™ =p1n10:05-10 S10.1
MN10A-L - =
T ELbFry T ‘
MMNT0OA-L P XI: A T F Lk | ATy Rl aA b
" 2UELIb o —— ! P
RO e ACHE TVELILT 3ok 2FUVTEY SRS =
M3X05 "MN10-04-3A 630 "MN10-05-3 $3.1
M4X0.7 "MN10-04-4A $40 B "MN10-05-4 341
M5X0.8 “MN10-04-5 $30 | “MN10-05-5 @51
o Mex10 | MMNIQ-04-6 | $60 . | MNI10-05-6 $6.1
M8 1.25 MN10-04-81 $80 MN10-05-8 $8.1
M10X15 MN10-04-101 $10.0 Sl sl bl MN10-05-10 $10.1
PNT110 | | PNT210
A== < KLl i o i 4 T FLdlk
PNT110 PNT210
: TUFLIL J—XE—R ., <TUFLIL J—RE-X
RLORT | moss pUNE| BaES HE RLOFT | moss | nUNE | HasS HE
M3X05 | FAM400-284 | 30 | FAM400-288 | @32 MAX07 | “FAMA00-225 | 940 | "FAMA00-228| @42
_ M4X07 | FAM400-285 | @40 | FAMA00-289 | @42 M5X0.8 | "FAM400-224 | ¢50 | "FAM400-171| ¢5.2
M5X08 | FAMA00-286 | 650 | FAMA400-200 | 5.2 M6X18 | FAMA00-213 | $60 | FAMAQD-173 | @62
M6x10 | FAM400-287 | @60 | FAM400-291 | 6. M8X125 | FAMA00-214 | ¢80 | FAMA00-176 | @82
MIDX15 | FAM400-215 | ¢100 | FAMA00-178 | @103
M12X1.75 | FAM400-216 | $120 | FAM400-208 | $12.3

Adhk >
|/

oy & ¥ | By & 5wt

T 224-0003 HEIEMALK P)IHR1-4-6 7+— LA b B Z—E N 3F
TEL 045-532-6900 FAX 045-532-6909

http://www.avdelook.co.jp



